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Part A

1. Consider the ricardian model of trade. In country M, one worker can produce 6 tons of soya or 3 meters of cloth, while in country N one worker can produce 1 ton of soya or 1 meter of cloth. Under free trade and assuming country N is not a large country, answer the following questions: 

a) (1,0) In which good does country N specialize in? Explain.

b) (1,0) Is that specialization complete or incomplete? Explain.

c) (1,0) Suppose both countries share the same currency and that they trade with each other. Within which interval may the wage of country N relative to the wage of country M fall into? Explain.

d) (1,0) In the presence of transport costs, which condition must hold in order to prevent the good exported by country N from becoming non-tradable? Explain.

2. (1,5) Consider a small country which imports good x. The international price of x is 6, and its supply and demand functions are given by: 
Dx = 60 – 3.Px

Sx = 4.x – 10
Which is the size of a quota with the same effect on imports as a tariff of 50%? Explain, using a graph to illustrate your answer.

3. (2,5) A small country exports a good at the world price Pw. Domestic firms produce S1 units, D1 of which are consumed at home and the rest is exported. If the government grants a subsidy of “s” per each unit of the good exported by domestic firms, what will happen to the domestic price of the good? And to the welfare of the country? Explain, using a graph to illustrate your answer.

4. (1,5) What may explain the fact that the US both exports and imports computers from Germany?

Part B
5. (2,5) In the HO model, M is abundant in capital while N is abundant in labour. Good 1 is intensive in capital whereas good 2 is intensive in labour.

a) Which will be the pattern of trade between the two countries? Explain.
b) In the case of country N, which will be the effect of trade on the relative price of x and on the relative price of labour? Explain, using a graph to illustrate your answer.

6. (1,5) In the HO model, an increase of 10% in the price of the labour-intensive good as a result of specialization will be associated with an increase in the nominal wage of:

a) more that 10%?

b) less than 10% ?

c) 10%?

Explain.

7. (1,5) a) Why do firms sometimes practice dumping?
b) Governments should deal with foreign dumping by imposing anti-dumping duties. Do you agree? Explain.

8. (1,5) Suppose that, as a result of the formation of a customs union, one of the member countries – country x – starts importing from another member country a good which was previously imported from a country which does not join the customs union. In this context, consider the following assertion:
“This fact is known as trade deviation, and decreases the welfare of country x”. Do you agree? Explain.

9. (1,5) With free trade, the US can import a watch from Mexico for $22 or from China at $19. Initially, the US government imposes a tariff of 10% on all imported watches. In this context, consider the following assertion:


“The welfare effects on the US resulting from the creation of a free Trade Area with Mexico include a lower price for watches and the loss of government revenue”.
Do you agree? Explain.

10. 2,0) “All the literature on international trade concludes that free trade always leads to an increase in the welfare of the countries involved”.


Do you agree? Explain.

